Statistical Reasoning
Box and Whisker Plots
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Find the 5 numbe?*)ummory and interquartile range for each set of data.
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3. Find any outliers for the set of data in #1. .
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4. Find any outliers for the set of data in #2. .
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5. The sales of the 15 largest American businesses are given below. Identify any outliers and make a
box-and-whisker plot of the data.
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6. The n.Umber of c_olories in a regular serving of French fries at different restaurants are listed below.
Identify any outliers and make a box-and-whisker plot of the data.
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7 The table below shows the median ages of men an
the decades of 1890 through 1990. Identify any outli
data .
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